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22.6.2
93b (72 mwp) 2 95a (»pT 7510p)

I ’a mwn: percentage of acceptable dross in purchase
a  Grain: Vaap of “dross” to 1 nxo (1/24)
i a»vp 7 he accepts Y4 ap of beans (not dirt)
1 Challenge: ruling of na- that if someone takes a rock from another’s granary — must pay him back with wheat
2 Answer: 1 pebble is acceptable (2 he caused that loss in granary), but 1/24 — only if it is beans
(a) Challenge: Rn 2 sets terms: wheat — V4 n1op per nRko; barley — ¥4 straw per nRro; lentils — ¥4 dirt per nxo
(i) Assumption: “dirt” holds for wheat and barley as well
(if) Rejection: “dirt” only applies to lentils since they are uprooted (not cut, as grain is)
(b) Conclusion: wheat and barley do not allow for dirt as “dross”
(i) Rejection: perhaps this was only needed to teach that lentils only have up to %4 ap of dirt allowable
ii ~ a»n 7 if he sifts (and finds more than %) — he gets entire value back
1 Some say: R1*7 — since he forgoes the ¥4 due to 8n10, now that he had to trouble himself, he isn’t Ymn
2 Others say: Roap — since that much dross is unlikely, he must’ve mixed it in deliberately and loses all
(a) Challenge (to X2°7): ruling re: XY that if a n"Rv has %4 ap of another type — must diminish (but not all of it)
(i) Assumption: Ya ap in re: X3 mmore than ¥4 2p in re: commerce
1. Ifso:he doesn’t pay back all —just up to %4
2. Rejection: V4 in re: R93::1/4 in re: commerce; we only force him to diminish due to Xm0 of WXR%>
a.  Question: if so, why does »ov "1 obligate him to rid all of the ox%>
b. Answer: in that case, it appears like he is sustaining ©'x%>
(b) Challenge (to XoJp): if 2 were Tpan money with a third; one 100 the other 200 and each claims 200
(i) Ruling: return 100 to each and third 100 “sits” = we are not onp to lose all
1. Answer: in that case, each certainly owns 100; here, he may have deliberately mixed the whole
2. Challenge: *o01 "v's dissent (ad loc.), all 300 “sits” —
a. Answer: in that case, there is certainly a liar; here, he may not have mixed it up
(c) support (to 82177 ”7); a 70V with n’27 — may not collect even the 17p (n") > we are onp the whole amount
(i) block: in that case, he violated w1 v5» NYWN RY at time of writing 70W; here, perhaps he didn’t mix
(ii) Challenge (to &p2p): R0 — wnaN allow collection of 17p
1. Answer: 17p is certainly of 1n’n; here, perhaps he mixed the entire batch
(d) Support (to 217 77): from later Rn»7a (next p19) — if he sells land “approximately” but undersells by more
than the acceptable differential (1/24) — must return all of it
(i) Block: in that case, he said “more or less” but once we have more than % 1p per 115 — that’s 9 ap and
is a significant plot; here, the ya1v+ is still relatively insignificant
(e) Support (to 8217 7): rule of NRNR — if there is exactly 1/6, the naxn must return the 1/6 (i.e. all)
(i) Block: in that case, he expected exact correlation between payment and goods; but less than 1/6 isn’t
recognized; here, he assumes a loss of about ¥4 ap per nxo
(f) Support: if someone pays to plant a field, he accepts up to 10% of loss (trees that won’t grow)
(i) If: the loss was greater, he gets entire amount back > return all (X110 "13)
(if) Block: as per »”17 012 ®R1n "1 — when someone has to replant in such a case, it is as if they are starting
from the beginning

b Figs: 10 wormy figs per 100

¢ Wine: 10 bad barrels per 100
d  Winejugsin 11 10 bad jugs per 100
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